[image: image1.png]BROADRICK

SECONDARY SCHOOL




[image: image2.wmf][2]

          

          

          

          

          

          

          

          

7

 

3y  

5

   

   

2

  

y  

1

     

          

          

          

          

-

+

+

[image: image5.wmf]height]

lar 

perpendicu

area

 

base

 

 

pyramid

 

a

 

of

 

[Volume

  

          

3

1

´

´

=


Broadrick

Secondary School

2 Dunman Road S439188  Tel:63445025
                                             40                  

MATHEMATICS (Paper Two)

Secondary 4 Normal Academic

Mid-Year Examination 2002

1 Hour 30 Minutes


Date
:  3 May 2002

Time
:
09 15 – 10 45

Name
: ________________________(       )

Class
: ________________________
Instructions to Candidates

1 Write your name, index number and class in the spaces above.

2 Answer all the questions from Section A and one question from Section B.

3 Write your answers and working on the separate answer paper provided.

4 If you use more than one sheet of paper, fasten the sheets together.

5 Omission of essential working will result in loss of marks.

INFORMATION FOR CANDIDATES

1
The number of marks is given in brackets [  ] at the end of each question or part question.

2
If the degree of accuracy is not specified in the question and if the answer is not exact, the answer should be given to three significant figures. Answers in degrees should be given to one decimal place.

3 You are expected to use an electronic calculator for this paper.

4 The total marks for this paper is 40.
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This question paper consists of 3 printed pages excluding the cover page.
Section A (33 marks)

Answer all the questions in this section

1. Look at this sequence

3,  7,  11,  15,  19……..

For this sequence 


(a)
find the tenth term,








[1]


(b)
find an expression, in terms of n, for the nth term.




[2]

2.
(a)
Expand and simplify  (3x (1)(x + 2),






[2]

(b)
Factorise completely   15x2 ( 7x ( 2.






[2]

3.
Solve the equation   4x2 ( 3x ( 8  =  0, giving your answers correct to 2 decimal places.













[4]

4.
(a)
Express as a single fraction in its simplest form
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(b) Solve the simultaneous equations

6x  (  y   =  8,

3x  +  2y  =  (6.






[3]

1

5. In the triangle ABC, AB = 6 cm, BC = 9 cm and angle ABC = 50(.

(a) Calculate the area of triangle ABC.






[2]

(b) Use the cosine formula to calculate the length of AC.



[3]







 A


















           6 cm























          













         B




   C









      9  cm

6.
The diagram shows a pyramid with a rectangular base ABCD

   V

and a vertical height VN. The diagonals of the rectangle

intersect at N.

AB = 10 cm, AD = 5 cm and VN = 6 cm. 




               C

Calculate

(a)
the volume of the pyramid,

[2]

(b)
the length of DB,


[2]



         N

(c)
the angle VDN.


[2]








           D


     10 cm

7.
In the given diagram, A, B, C and D are points on              North

level ground and B is due east of A. Given that


        D

(CAB = 30(, (CBA = 45(, AC = 50 m,

AD = 70 m and CD = 30 m, calculate

(a) the length AB,


[3]


       70 m                   

(b) the bearing of D from A.
[3]




        









          A


          B


2
Section B (7 marks)

Answer one question in this section.

8.
The table shows the distribution of the masses of a number of eggs.

Mass (m) in g
40 < m ( 50
50 < m ( 60
60 < m ( 70
70 < m ( 80

Frequency
25
10
10
9


(a)
Write down the modal class.







[1]


(b)
Calculate the mean mass of the eggs.






[3]

(c) Using a scale of 2 cm to 10 g on the horizontal axis, draw a histogram to represent 

this distribution.








[3]

9.
Answer the whole of this question on a sheet of graph paper.
500 plants were grown under experimental conditions. Their heights were distributed as shown in the cumulative frequency table below.

Height in cm 
10
20
30
40
50
60
70

Number of plants of

this height or less
29
75
148
270
395
458
500

(a) Using a horizontal scale of 2 cm to represent a height of 10 cm and a vertical scale of 

2 cm to represent 50 plants, draw a cumulative frequency curve for this distribution.












[3]

(b) Showing your method clearly, use your graph to estimate

(i) the median of the distribution,





[1]

(ii) the interquartile range of the distribution,




[2]

(iii) the number of plants with heights greater than 55 cm.


[1]

END  OF  PAPER
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     6 cm
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      C





       50 m





   30 m
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